(=5)-[(4-6)-(-1+3)+4]-2= 20:(-5) +{-[(-15: 3) + 1] - (+4 - 5)}=

-2 +2 4 5 -1
(_5)'[%+4]_2= A+ {[-5+1] - (-1)} =
(=) -[4+ 4l - 2= 4+ {1 (1) =

g +4
(-5)-0-2=

0 4 +{+4-(-1)} =
4
0-2=-2
+1i4)-
4
6-[-(-3)-(-4)] - (-3) = 4_4=_8
+3 +4
6 - [+3+4] - (-3) = (-4-2):3+4:(-2)-3=
+/ -6 -2
b6-(+7)(-3) = -6:3-2-3=
-2
6-(-21)=6+21=27 2-6=-8
(=40): (6-16)-(-49) : (-7) = (=5)-(6-8)-(11-8)-(-1) =

-10 +7 -2 3
(-40): (-10) - (+7)= (-5)-(-2)-3-(-1) =

+4 +10
+4-(+7)=4-7 =-3 10-(-3)=-30

—12+[—(+5)-4-(+4)+ 1]+ {-[-2-(-4)+ (9 =11} + (+5) =
-5 +16 +8 +5

124+ [5-16+1]+{-[8+(2)]}+5=

-80 8-2=6

-12+[-80+ 1]+ {-[6]}+5=
-79

12+ (-79)+(6)+5=-12-79-6+5=-92



